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- )14.Suppose a student had tossed a coln 24 times

:
L

L. Match the following terms with the descriptions b

subtracted for each of a wrong marg:ﬁ..-’].r.' 20 pofrrs in tolal)
A gene pool. '

elow [ Note: 2 poinis each for a correctly :i:fswer, but 3 poirts will be
B. gene frequencies  C." - populafion _
F. chromosomal mutations G. gene mutations
K. beterosis
F

D. Hardy-Weinberg principle  E. mrtation
H. ‘migration {. Recomhination ~ '

I founder effect
L. balanced pelymorphism M, randoin rating M. genetic drift

Q. operon

) 1. individuals of the same species who interbreed with each ather
N adaptive advantage of heterozypote aver homozygote

{

( .
{ )'13.'m.ating with any other available mate in the population, determined by chance
{ )4 method of distributing aileles after they have entered a popliation

{ )'5..raanangcmmts of chromosomal sequences
{
¢
(

)8 _c.-ffcéts of chance fluctuation on a population

L J 7. too): for determining allelic fféqu&ncies in populations
N ) 8 herirable gene change . _

v 38 tra_ilsfei-_ of variztions from one population

=

- MB.maintenance of equilibrium between to or more phenotypes in the population

?_:Rea_d the following statement; then answer questious 11 through 17 (2 poines eéc!a; I poi.;’:a‘s in rc}}ai):
.[._r;_._g__:".:-r'ﬁé'é. pigs, black coat colgy (B) is dominant over white (8} 4 htpbrid male (BE) wats bred to o ﬁamg@g&m recessfve féméfe. '

s I'-].:'.'I‘.he symbols Bb represent the: (A). genotype of the famale (B genq!yhe of the male ()

phenotype of the male (D). phenotype of the

{(7912: Thie phenotype of the feraie isi (4). white. (B}.black (C).Bb  (Dybb

e _ -j’1_3. Thie number of kinds of sperm that the male could form with respect to coat color is: (A).1 (B2 . (CL3 (D 4,

ang had gotten heads every time, What
heads? " {A).172 {B). 144 (C). less than the probability of getting tails (D). more
(" .)15 The probability of the male’s producin'g aspermn wi
“f )16.Inthe FI' generation in a cross between these two
© (A). 3black to [ white (B). all black females (€
3 1?.-'Thi's.cr_oss, in which a heterozygous individual is
crasé"(C), testeross (D). muitiple alieles

is the probability that on the next toss he will get
than the probability of getting taiis

th the dominant gene (B)is: (A). 172. (B). 14 (CrL1l (Do

ammals, the ratio of expected offspring with respect to coat color would be:

). all white males (D). 1/2 black, 1/2 white

crossed with 2 homozygous recessive, is lermed a: (A). dihybrid cross  (B). linkage

e 2

e o e
UL Multiple Choiee (2 poinrs each, 10 points in total) : o

i) 18, Color-blindness is a sex-linked,
-2ision (XCX6) marries a solor-blind man,
'- 19. What are the chances that this couple wiil have a color-
gﬂil]cﬁh:énlp:-b]ind | - | '

recessive trait. The traii for nommal

vision is dominant.-Suppose a8 woman heterozygous for norma)
How would the genotype for the m

an be represented? (A). XcY, {B). XeXe (Q). color-blind (D).

blind son? (A). 1/4 (B). 12 (C). all sons wilt be calor-blind  {D}. no son

20. The genetic i_ni_‘:_}nnation is coded in the D_NA by (A}. the regular zltemation of deoxynbose (sugﬁr} and

phosphate molecules. (B

a’g:lyi__;r_:tiai arrangement of the four base molecules (the T, C T, and G molecuies)

k3 {C). the order of the genes (Dj,.a,]] of the ghove. (E}
Eﬁﬁric '-fmf :'E:ﬁ't_i;_‘a:b_oﬂfe - . ._

-_.ﬁ\,_'s:ll:arjdar_d F2 phenotypic watio resulting from a dihybrid cross where doﬁ]j_nancg is complete would be {42 31 (B} 1.2 {O),

DJ. 121 (B) none of the above
‘That DA is thought to be

the genetic materia] is based upori .(ﬁ}.
(gmosme:content of celis

the phenomenon of bacterial transformation (), the comrelation
(C). the stdy of virys multiplication with

in backeria.- f[fl}!. allof the above  (E). none of the above
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_V Short answer of the fnlluwmg quesimns BRE}'FLY

1n mice the genotype y/y 18 gray, Yy i yellow, and ‘:’.-‘Y dlcs as a small smbryo. Whal nﬂ‘sprinb wonkl be expecied from a cross between a
yellow and a gray? Between 1wo :.felic:-ws'? in which cross would you expect the Iarg,csl size of littee? (¥ poinis)

In tman the gene D is necessary for a normal-ear cochlea and gene Eis necessary l"or a nommal auditory nerve. In the absence of either of these
-+ factors the individual is deaf. Show a) how two norma! parems could pmducc a deaf child and b} how two deaf parents could produce 2
' nqrmal child. (8 points

- Fill in the missing leiters in the following: {13 paints) i} _ T -
T 6 A _ _— 7.
C R } DNA p
- T ' T T #"‘I
h - 1. ) . . .
U - < ,_,e.__ —— s — —— m-RNA
i G ' C A S-RNA coding sites m
1

o X z____; S ve | 57«7  Amino Acids
)i Ii'T'I‘CGCT‘TA is the sequence of bases in one strand of a section of' a DNA molecu!e. (2 pmms each, 6 poiils it wra!}

a) What will be the sequence of bases in & complementary strand of DNA formed from this?
b) In astrand of messenget RNA formed from the original molecnie?

¢} For how many amine ecids does this sequence code?

5) How many different kinds of gametes can the following individuals produce? (2 pwints each, 6 points in rotal)
a) AABBFF D) AAWWCCFf _ c) AaBbGgHh ' :

£} When a strain of gcnatype “p £ NRX",. whe.re the ge.ne order is unknown was used as 2 source of DNA used 1o transform a strain of
genotype “acnr x”, the following types were found: “S cn Rx” “acNrX™ “aCnRx”, &“AcnrX’in addition to those such as
C ot x * where only a single gene was transformed What is the gene or:_ier? {4 poinis) -

7) Assuming a 1-1 sex ratio, what is the prubabﬂity that a fam:ly of 6 children will consist of (2 points each, 10 points in toraly
a) dboysand3 girls? b) A boy, 2 gitl, a boy, & glrl aboy,and a girl in thig order? c} Al girls? :



	SC06_89_21之1
	SC06_89_21之2

